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Question: 1

Which of the following statement is correct for IAM?

A. It enables bring-your-own-devices

B. It enables only authentication for the tenancy
C. It enables only authorization for the tenancy
D. Itis used to control access to resources

Answer: D

Explanation:

Identity and access management, or IAM is used to control access to resources.

Question: 2

Which of the followings are characteristics of serverless architecture? Except

A. Refers to building and running applications that do not require server management

B. Provides automatic upgrades, patching, and deployment

C. Enables a simpler, more cost-effective way to build and operate cloud-native applications

D. Describes a finer grade deployment model where applications are bundled as one or more
functions

Answer: B

Explanation:

Serverless computing is a cloud computing execution model that provisions computing resources on
demand and offloads all responsibility for common infrastructure management tasks. They are auto-
scalable so it can handle extremely active traffic periods.

Serverless computing does-not means there are no physical servers utilized, of course there are
servers, but we don't have to manage them, in background cloud provider manage (provisioning,
scheduling, scaling, patching and more) for us, this gives developers more time to develop and
optimize their front-end application code and business logic. And with serverless, customers never
pay for idle capacity. They pay only for the resources required to run their applications, and only
when those applications are running.

Serverless is a polyglot environment, enabling developers to code in any language or framework -
Java, Python, node.js - with which they're comfortable. Because serverless scales up and down on
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demand in response to workload, it offers significant cost savings for spiky workloads. But it does not
offer the same savings for workloads characterized by predictable, steady or long-running processes;
in these cases, a traditional server environment might be simpler and more cost-effective.

Serverless Implementations differ across service providers, and capabilities vary, including supported
runtimes, authentication, scaling and monitoring.

Serverless architectures are well-suited for event-driven, 10T and stream-processing workloads most
notably open-source Apache Kafka event streaming platform.

Benefits:

- Pay only for the time for our code will run.

- Developer don't have to take care of servers or infrastructure, it maintains by cloud provider, so
they can focus more on development and business logic.

- APl Management & Integrated event sources.

- Serverless scales up and down on demand in response to workload

[Exam Tips]: You can expect, few

Question: 3

Which of the following automation services is a serverless platform provider. Except?

A. AWS Lambda

B. Google Cloud Functions
C. Microsoft Azure Functions
D. Oracle Cloud Server

Answer: D

Explanation:

Oracle Cloud Server is a server (compute shape), It's not a server-less offering of Oracle Cloud
Infrastructure. In-

Correct Answer: AWS Lambda, Google Cloud Functions, Microsoft Azure Functions are automation
Explanation:services of AWS, GCP and Microsoft. Server-less computing is a cloud computing
execution model that provisions computing resources on demand and offloads all responsibility for
common infrastructure management tasks. They are auto scalable so Its can handle extremely active
traffic periods.

Question: 4

Cloud native development and hybrid cloud strategy are use cases of?

A. SaaS(Software-as-a-Service)

B. PaaS(Platform-as-a-Service)

C. DaaS(Data-as-a-Service)

D. laaS(Infrastructure-as-a-Service)

Answer: B

Explanation:
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Question: 5

Which of the following are use cases of cloud object storage? Except

A. Backup and recovery

B. Data archiving

C. Cloud-native app data
D. Structured data storage

Answer: C

Explanation:

Object Storage enable you to store and access unstructured data anywhere in the world with a self-
service portal backed by RESTful APIs.

Object Storage supports exponential data growth and cloud-native workloads with built-in high-
speed file transfer capabilities, cross-region offerings and integrated services.

Cloud object storage makes it possible to store practically limitless amounts of data, simply and cost
effectively.

Example use cases of cloud object storage include:

- Backup and recovery

- Data archiving

- Cloud-native app data

- Al and analytics
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